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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : CYRF-S-TXLD Test Booklet Series

Serial No.

10070E" TEST BOOKLET
B GENERAL STUDIES
Paper—II

Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES ORITEMS, ETC. IF SO,
GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection. Y

3. You have to enter your Roll Number on the Test Booklet in thé
Box provided alongside. DO NOT write anything else on the Test
Booklet.

4. This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English. Each item
comprises four responses (answers). You will select the'response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose ONLY ONE responsé for.each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the
Answer Sheet.

6. All items carry equal marks.

7. Candidates belonging to persons with, Benchmark Disability (only blindness and low vision
sub-category) should not attempt questions, where data interpretation (charts, graphs, tables, data
sufficiency, etc.) is required. Question numbers of such questions are highlighted in the Paper
( if Question No. 1 is highlighted question, it would look like ). Marks of these questions will be
distributed equally amongst the remaining questions for such candidates.

8. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have
to fill in some particulars in the )Answer Sheet as per instructions sent to you with your Admission
Certificate.

9. After you have completed filling in @ll your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take away
with you the Test Booklet.

10. Sheets for rough work are appended in the Test Booklet at the end.
11. Penalty for wrong answers :
THERE WILE'BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
ansWer has been given by the candidate, one-third of the marks assigned to that guestion will be
deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Consider the following three-dimensional How many diagonals can be drawn by
figure : joining the vertices of an octagon?
(@ 20 (b) 24

(c) 28 ([d) 64

“I E The figure drawn below gives the velocity
graphs of two vehicles A and B. The

straight line OKP represents the velocity
of vehicle A at any instant, whereas
the horizontal  straight. line CKD

How many triangles does the above represents the velocity of vehicle B
figure have? at any instant. In_the figure, D is the
point where perpendicular from P meets
(@) 18 (b) 20 the horizontal line CKD such that
PD = lJI..D -
(c) 22 (d) 24 2
Consider the following sum :
C Vehicle B K D
se+le+2e+e3+01=21e = i
g B |
= .é\e! '
In the above sum, e stands for 9 Q.z:cs‘ !
(@) 4 (b) S i »
9 Time &

(c) 6 (d) 8
What is the ratio between the distances

db hicles A and Bi ti
Consider the following  pattern of R Tt T

interval OL?
numbers :
122 203
8 10, 1513 (@) (®)
6 5\ ™ 4 c) 3:4 @ 1:1
= 6 8 8
6 16 ? 6. A train 200 metres long is moving at the
rate of 40 kmph. In how many seconds
What. is the number at ? in the above will it cross a man standing near the
pattern? railway line?
(@) 17 (b) 19 (@) 12 (b) 15
(c) 21 (d) 23 (c) 16 (d 18
CYRF-S-TXLD/S0A 3 | B.T.0.
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Directions for the following 4 (four) items :

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

Global population was around 1'6 billion in
1990—today it is around 7-2 billion and
growing. Recent estimates on population
growth predict a global population of 9-6 billion
in 2050 and 109 billion in 2100. Unlike Europe
and North America, where only three to four per
cent of population is engaged in agriculture,
around 47 per cent of India’s population is
dependent upon agriculture. Even if India
continues to do well in the service sector and
the manufacturing sector picks up, it is
expected that around 2030 when India
overtakes China as the world’s most populous
country, nearly 42 per cent of India’s
population will still be predominantly
dependent on agriculture.

7. Which of the following is the mest
logical and rational inference that
can be made from the above passage?

(a) Prosperity of agriculture sector is of
critical importance to India.

(b) Indian economy greatly depends on
its agriculture.

(c) India should take strict measures
to. control its rapid population

growth.
(d) India’s farming communities
should switch over to other

occupations to improve their
economic conditions.

CYRF-S-TXLD/50A
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Passage—2

Many pathogens that cause foodborne illnesses
are unknown. Food contamination can occur at
any stage from farm to plate. Since most cases
of food poisoning go unreported, the true extent
of global foodborne illnesses is unknown.
Improvements in international monitoring have
led to greater public awareness, yet the rapid
globalization of food production “increases
consumers’ vulnerability by making food harder
to regulate and trace: “We have the world on
our plates”, says an official of WHO.

8. Which| of the following is the most
logical corollary to the above passage?

(a) » With more options for food come
more risks.

(b) Food processing is the source of all
foodborne illnesses.

() We should depend on Ilocally
produced food only.

(d) Globalization of food production
should be curtailed.

Passage—3
I am a scientist, privileged to be somebody who
tries to understand nature using the tools of
science. But it is also clear that there are some
really important questions that science cannot
really answer, such as : Why is there something
instead of nothing? Why are we here? In those
domains, | have found that faith provides a
better path to answers. 1 find it oddly

anachronistic that in today’s culture there

[ P.T.O.
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seems to be a widespread presumption that

scientific and spiritual views are incompatible.

9. Which of the following is the most
logical and rational inference that
can be made from the above passage?
(a) 1t is the faith and not science that

can finally solve all the problems of
mankind.

(b) Science and faith can be mutually
complementary if their proper
domains are understood.

(c) There are some very fundamental
questions which cannot be
answered by either science or faith.

(d) In today’s culture, scientific views
are given more importance than
spiritual views.

Passage—4

Though I have discarded much of past tradition
and custom, and am anxious that India should
rid herself of all shackles that bind and contain
her and divide her people, and suppress vast
numbers of them, and prevent the ‘free
development of the body and the spirit; fhough
I seek all this, yet I do not wish to cut myself off
from that past completely. I am,proud ofsthat
great inheritance that has been and is; ours
and I am conscious that I too, like all'ef us, am
a link in that unbroken chain which goes back
to the dawn of history ifi'the immemorial past
of India.

10. The author wants India to rid herself of
certain past bonds because

(a) ¢he is not able to see the relevance
of the past

(b) there is not much to be proud of

(c) he is not interested in the history of
India

(d) they obstruct her physical and
spiritual growth

CYRF-S-TXLD/50A
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Directions for the following 3 (three) items :

The following three items are based on the
graph given below which shows imports of three
different types of steel over a period of six
months of a year. Study the graph and answer
the three items that follow.

| (I (. N |

(e.d]
L

6_
4_

Thousands of tons imported
NNRONNWWWWWS LD
1

May June

OCoil ($ 320) E Scrap ($ 175)

[ Sheet ($ 256)

The figures in the'brackets indicate the average
cost per ton ever six months period.

By how much (measured in thousands of
tons) did the import of sheet steel
exceed the import of coil steel in the first
three months of the year?

@ 11 (b) 15

() 19 (d) 23

m What was the approximate total value
(in $) of sheet steel imported over the
six months period?

(a) 45,555 (b) 50,555

(c) 55,550 (d) 65,750

What was the approximate ratio of sheet
steel and scrap steel imports in the first
three months of the year?

(@ 1:1 (b) 12:1

(c) 14:1 dl 16:1

[ P.T.O.
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Directions for the following 3 (three) items :

Rotated positions of a single solid are shown
below. The various faces of the solid are marked
with different symbols like dots, cross and line.
Answer the three items that follow the given
figures.

// — / X

. .. RN} ..

(1) (IT) (1) (IV)

m What is the symbol on the face opposite
to that containing a single dot?

(a) Four dots
(b) Three dots
(¢) Two dots

(d) Cross

m What is the symbol on the face opposite
to that containing two dots?

{a) Single dot
(b) Three dots
(c) Four dots

(d) Line

What is the syanbol on the face opposite
to that centaining the cross?

(@) ‘Single dot
(b) Two dots
(c) Line

(d) Four dots

CYRF-S-TXLD/50A
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Directions for the following 4 (four) items :

Read the following passage and answer the four
items that follow. Your answers to these items
should be based on the passage only.

Passage

It is no longer enough for us to talk about
providing for universal access to education.
Making available schooling facilities is an
essential prerequisite, but is insufficient to
ensure that all children attend school and
participate in the learning process. The school
may be there, but children may not attend or
they may drop out after adew months. Through
school and social mapping, we must address
the entire gamut of social, economic, cultural
and indeed  linguistic and pedagogic issues,
factors that prevent children from weaker
sections and disadvantaged groups, as also
girls; from regularly attending and
complementing elementary education. The
focus must be on the poorest and most
valnerable since these groups are the most
disempowered and at the greatest risk of
violation or denial of their right to education.

The right to education goes beyond free and
compulsory education to include quality
education for all. Quality is an integral part of
the right to education. If the education process
lacks quality, children are being denied their
right. The Right of Children to Free and
Compulsory Education Act lays down that the
curriculum should provide for learning through
activities, exploration and discovery. This
places an obligation on us to change our
perception of children as passive receivers of
knowledge, and to move beyond the convention
of using textbooks as the basis of examinations.
The teaching-learning process must become
stress-free; and a massive programme for
curricular reform should be initiated to provide
for a child-friendly learning system, that is
more relevant and empowering. Teacher

[ P.T.O.
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accountability systems and processes must
ensure that children are learning, and that
their right to learn in a child-friendly
environment is not violated. Testing and
assessment systems must be reexamined and
redesigned to ensure that these do not force
children to struggle between school and tuition
centres, and bypass childhood.

17. According to the passage, which of
the following is/are of paramount
importance under the Right to
Education?

1. Sending of children to school by all
parents
2. Provision of adequate physical

infrastructure in schools

3. Curricular reforms for developing
child-friendly learning system

Select the correct answer using the code
given below.

fa) 1 only
(b) 1 and 2 only
(c) 3 only

(d) None of the above

18. With reference to the above passage, the
following assumptions have been made :

1. The Right to Education guarantees
teachers’ accountability for the
learning process of children.

2. The Right to Education guarantees
100% enrolment of children in the
schools.

3. The Right to Education intends to
take full advantage of demographic
dividend.

CYRF-S-TXLD/50A
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Which of the
is/are valid?

above assumptions

(@) 1 only
(b) 2 and 3 only
() 3 only

(d 1,2 and 3

19. According to the passage, which one of
the following is/ critical, in bringing
quality in education?

(a) Ensuring regular attendance of
children as well as teachers in
school

(bp) Giving pecuniary Dbenefits to

teachers to motivate them

{c¢) Understanding the socio-cultural
background of children

{d) Inculcating learning

activities and discovery

through

20. What is the essential message in this
passage?

(@) The Right to Education now is a
Fundamental Right.

(b) The Right to Education enables

the children of poor and weaker

sections of the society to attend

schools.

(c) The Right to Free and Compulsory
Education should include quality
education for all.

(d)

The Government as well as parents
should ensure that all children
attend schools.

[P.T.O.
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21. 3e MUMBAI ¥ fau %2 ® LSJXvC, @

DELHI % T %2 @
(@) CCIDD (b) CDKGH
(c) CCJFG (d) CCIFE

22. gfd RAMON = 12345 ¥ ®4 J @
DINESH %l 675849 & &9 i for@r =i 2,
d HAMAM 1 758 &9 d foran som?

(a) 92233 (b) 92323
() 93322 (d) 93232

23. IR X, 33N -1Fda A g qur v, —13R 1
% a9 ¥R @ X2-v2 fefafes § @

Tk <9 & Bm?
(@ -9 3 1 (b) -9 I -1
() O 3R 8 (d 039

24. X 3R Y, 1 & AE oqUITH € qU1 ¥, X @

=gl 8| ffafad § & #F-1 ved 7€ ge

=1 &g o 27
(@) XY (b) XY
fcg Y/X (@ (X+Y)/XY

Freafafaa 2 (31) vt & o fAEm:
ffeifiaa sl 1 afen iR 38% 99 om a9t @
AT % I S

®: AEIREl A, BoC, D, E 3 F ¥ fou
FHicd @ K AL s TR 2 B3R cdF %
FHIGd, 6 BEIE GUE H Y9N FA & eI
3Rl AR B, A B FETEE TER ) TR AR R
E 3R F % #m@icE TR % o nel w ¥ g
Tk bEied SrH-EER A€ 1 C e D ¥ sl
HAM-HHA B E 1 FE0E R W T8 7 F &

CYRF-S-TXLD/50A
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FEfeE MeER § A F FEfed & R a9 g h
74 ® R

25. 4% E 301 wEiad § nfemr 1 R gt #0%6
S3a1 B, o 3Tl i SR frwe watag 27
(@ A (b) B
¢ C (d D

26. F /& frean verdl =9 R/37
(a) FEa A (b) A IR D
(o) HFA C (@) B3 C

Frafafas 7 (gm) we=mn & forg fdw

d= fou mu wR afe=geEt = ufey 3 oi=eel & 49
M I THEIL F IR AT T T F HH IR
Fae @ Tlesal W 8l eHid 8 =i

giEdes—1

‘Teve (SfRfthhem)’ frdt wiftes ) 9 SeeEa %
B HI 36 ulwa 1 =R FH g vk g, s
TRUTHEREY IcqTEhdl ! 99U g1 & S ) gl 98
T U Y6, ALY AR 09wl ¥ g9 8@
&, U 313 IRl § «f 36 yvE ed ey
B "HA B AME-wEG teefm uifEsl @ sfgm
(suratamiz) fafey wdi 4 @ wear € @ =fd 3w,
S FF 3w % gddig &= 3 ¥ uft o e, S
% 3 % sy ot o efawifa’ &5, sewond
BREmn 3R giErf I e § R & e 1 g, S
o v % woft el W aweefa-aTeeEE ¥ =uE g
R 9 /TE 1 THE THA FA F FHO0 N 9l
AW A B | FHIeH &1 Uk TgE FUR0TH Safase §
R B g e e o
¥ wEld B FREH % guronH fRuEr ®9 @
HIEAHR] T & A1e9 | BF aTe) T FashHY
FRUT IF B € | SOUEHeaHE T, ki 3R s
I H A W T W §| IWEHRE W gEe
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21, If LSJXVC is the code for MUMBAI, the

code for DELHI is

(a) CCIDD (bp) CDKGH
(c) CCJFG (d) CCIFE

22. If RAMON is written as 12345 and
DINESH as 675849, then HAMAM will
be written as
(a) 92233 (b) 92323
(c) 93322 (d) 93232

23. If X is between -3 and -1, and Y is

between —1 and 1, then X2 -Y?2 is in
between which of the following?

(a) (b)

() O and 8 (d) 0 and 9

-9 and 1 -9 and -1

24, X and Y are natural numbers other
than 1, and Y is greater than X. Which

of the following represents the largest

number?
(@ XY (b) XY
¢ Y/X (d) (X&Y)[XY

Directions for the following 2 (two) items :

Read the following informatien and answer the
two items that follow:

The plan of an office, block for six officers A, B,
C, D, E and F is,as follows : Both B and C
occupy officés.to the right of the corridor (as one
enters theyoffice block) and A occupies on
the left of the corridor. E and F occupy offices
on opposite sides of the corridor but their
offices do not face each other. The offices of C

and D face each other. E does not have a corner

CYRF-S-TXLD/50A
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office. F's office is further down the corridor

than A’s, but on the same side.

25. If E sits in his office and faces the
corridor, whose office is to his left?

(@) A (b) B
(cg C (d) D
26. Who is/are F's immediate mneighbour/
neighbours?
(a) A only (b) A and D
(c) C only (d B and C

Directions for the following 7 (seven) items :

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

‘Desertification’ is a term used to explain a
process of decline in the biological productivity
of an ecosystem, leading to total loss of
productivity. While this phenomenon is often
linked to the arid, semi-arid and sub-humid
ecosystems, even in the humid tropics,
the impact could be most dramatic.
Impoverishment of human-impacted terrestrial
ecosystems may exhibit itself in a variety of
ways : accelerated erosion as in the mountain
regions of the country, salinization of land as
in the semi-arid and arid ‘green revolution’
areas of the country, e.g.,, Haryana and
western Uttar Pradesh, and site quality
decline—a common phenomenon due to general
decline in tree cover and monotonous
monoculture of rice/wheat across the Indian
plains. A major consequence of deforestation is
that it relates to adverse alterations in the
hydrology and related soil and nutrient losses.
The consequences of deforestation invariably
arise out of site degradation through erosive
losses. Tropical Asia, Africa and South America

[ P.T.O.
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H 7 35 I R T &, AR F R A A % 28. 39 uf=se @, fefafad § 4 F9-91/8 @@

IR frn o 9 ana sfb-veEsR yonfeEt % o
s 2 8 98 @ (e, s el § yga
FhaA—TT 3R SEgE F W V)| vda & oged d,
qedg a1 1 A BIa1 S @1 STaal-ane, e &
A 37 A1 3R EEG B ARG F gEd wH H:
9 IH-3AT=oed § 31U 3 yiEdHl = fear s g &
UF AYA IR, Sk e ¥ B 9 S=nfE-
Fregfe it saatea § s 3 wWeeE B SWE ¥
ARV FA AT I ATHITE S Tegd % FBR *
1Y AW 90 TER ATEH % FRT SE-SIE] F
B el 4fd % 9 4 8, @ I@-arE 6 afa ein
TROTREEY BH 96l 99 IdEEal 1 g, TEaT &
Feerd gl 3 Me-wg (AeeeH) % wnu 9E8-ad %
F@d A W H BRU ¢ e 9ENad & sfaw qRomm
2 gE Feefeo, SuerEw @ sit IEd qumn §
uftadq, i g9 ufomeey, T ggEm % e
Foam F foru srevgs @@, 9w i fun-wm IaE
o B 9T B |

fewd (sod@) faren s |@war /R s
qhd 27

1. aHged % R Afedl % "l § qiEe
B HFar B

2. 4 & davfigad Fae aHdE R
F FHRO B B

3. EHl § e wEEE S-wen,
Iurpieady R, enhEr R 2fim
TR W HEVER 1 YT R 2

= fog 7o 52 #1 @M = wd I g

(@) Ha@ 1

(B), Fag A 3 2

(). FaA 2 IR 3

(d) I A | HrE ot wE Frewd 7w @

27. T =8t ¥ ogen, Frafofea § @ F|-3 20. ‘wowad’ ¥ dedf #, a1 f ufeds § i fen

T-ATBEA | 3T g F g 7

1. 3ufwge 4 gl

2,

3. FN I9ET W Aiiga w9

" ,

2 faw my e v e wd I g
(a) »5dd 1, 2 30X 3

(b) A 2, 3 3R 4

(c) had 1 3R 4

(d 1,2 334
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T B, Frefefied gEuremd 54 7 ©

1. E9ad, %ad IUEhieadig &a il
AT B

2. 9@ IR HWEWaH, FANEH 5 IHaE
qiom B

IfE H ¥ HHA-d qEuRon/gEgrond 3y
/87

(@) Fad 1

(b) Fad 2

(c) 1 3R 2 TF

(d) 9@ 13MAE2

www.jkchrome.com



15 www.jkchrome.com

15 www.jkchrome.com

have the highest levels of erosion. The already
high rates for the tropics are increasing at an
alarming rate (e.g., through the major river
systems—Ganga and Brahmaputra, in the
Indian context), due to deforestation and
ill-suited land management practices
subsequent to forest clearing. In the mountain
context, the declining moisture retention of the
mountain soils, drying up of the underground
springs and smaller rivers in the Himalayan
region could be attributed to drastic changes
in the forest cover. An indirect consequence is
drastic alteration in the upland-lowland
interaction, mediated through water. The
current concern the tea planter of Assam has
is about the damage to tea plantations due to
frequent inundation along the flood-plains of
Brahmaputra, and the damage to tea plantation
and the consequent loss in tea productivity is
due to rising level of the river bottom because of
siltation and the changing course of the river
system. The ultimate consequences of site
desertification are soil degradation, alteration
in available water and its quality, and the
consequent decline in food, fodder and fuel-
wood yields essential for the economic
well-being of rural communities.

27. According to the passage, which of the
following are the consequences . of
decline in forest cover?

1. Loss of topsoil
2. Loss of smaller rivers

3. Adverse _effeet ©won agricultural
production

4. Declining.of groundwater

Select the correct answer using the code
given below.

(@ 1,2 and 3 only
(b) 2, 3 and 4 only
{c) 1 and 4 only
(d 1,2, 3 and 4

CYRF-S-TXLD/50A
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28. Which of the following is/are the correct
inference/inferences that can be made
from the passage?

1. Deforestation can cause changes in
the course of rivers.

2. Salinization of land takes place due
to human activities only.

3. Intense monoculture practice in
plains is a major reason for
desertification in Tropical Asia,
Africa and South America.

Select the corréct answer using the code
given below.

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

(d) None of the above is a correct
inference

29. With reference to ‘desertification’, as
described in the passage, the following
assumptions have been made :

1. Desertification is a phenomenon in
tropical areas only.

2. Deforestation invariably leads to
floods and desertification.

Which of the above assumptions is/are
valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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afesg—2
SeAaTy, IR W SR I9EH F, ST
. HeEgeHd W ghEa s ¥ fow wpfow
wiwrafEl $ fafaga 6 eavawm @it e F
for, Ut wae foredt it sTavasa & <0 @, i el
a4 g CO, & aia r=a1 e =t| afF wae
F g * fou Feli-d3 v fram-Sfka wfen sda
A FAA FH H TS ¢ vy TR 1 gmedA
Fl ® 7 T 3 foredl &1 S ememra ™, ond st
I e § Had 3 S oF A gud §) adee
HHAl, A AR Fh 9 FAGE] F AGERTE GEEE
% EHd s el (39) B @wiE A F fae
@aRa U FEEE TR B IR Ao
Tifasl, S8 5 sRiva Sewen-g3, §a, Amyfat
werarg 9REdd % gl @1 U% HEd ol Seedl g
Seay % A A Widd @E e #§ ¥ R wEem
IURTHI 1 eTFRG S qd-abea dR SigRedl S
B FHfoE &E % A % wdeEl, 99 fF vEwm
Tferari, # ravaswar S 1 e g e F
fou anft @ 6 Sierarg ufteds &1 aomn fFn =
F | ‘

30. 39Yw uft=ae & ded # Fr=fafaa § @ #9-3,
SIeEry UiEtd 61 WHAl A w6 fou TR
Uk
1. YTHias ST |idl 0 wem
2. UM AT S, IE H G
3. e wod v wahE
4.  aTE TR
= fag 0% 1 W@ = g I g
(@) “Shaw 1, 2 3R 3
(b)) FHad 1, 2 3R 4
(c) Fad 3 3R 4
(d 1,2, 3 3R 4
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31. 39w dfede ¥ wed #, F=fafaa yamomd
TR T
1. sifgw =1 fafadfiwm, soEy ofeds =
AT A Il TF I % €9 F FE
AT 2|
2. HYH HHA-UGd H AFWEH ¥ URY
Fel o 3% 9= qadl, gEfa i 3
TE B 2

SE § W eH-E gEumen/ @t 3y
2/87

(@) FEd 1

(b) Had 2

(c) 132 Ml

(d T IATA2

Tiede—3

A qii yafawfm gAd 59 qun g S @
g= v | AR i fida faagg ¥ ar 6 frwed
THR 1 B, 99 dga A FEAE St €, 39 g
# ge 7 S gedt B uw fmewm wifm wia f
Hifd @l 8| B THH-gHF & AT F W A AR
A1 gg g a1eq foh gzt ueh Sifaw d3 i wifa =6
FA B

32. 3w Uf=ae ¥, F=fvfas 3 A FF-m
wattaes fAuiaes sk arféew et (F940)
fapTet < weha &7
(@ 9 AFE F @G|, 99 a9 TEg H
FId HYRYT AFTEFRAS B I W
ot B

(b) TATERUNE T F WEAT FA FT TR
wrl SeEE ) diftE 5 2

(c) TR TU I9sFEmE = FH T 3 @
fea 4 21

(d) @ s T HOFH G T Ogest H
T9H H HEHF B
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Passage—2

A diversity of natural assets will be needed
to cope with climate change and ensure
productive agriculture, forestry, and fisheries.
For example, crop varieties are needed that
perform well under drought, heat, and
enhanced CO,. But the private-sector and
farmer-led process of choosing crops favours
homogeneity adapted to past or -current
conditions, not varieties capable of producing
consistently high yields in warmer, wetter, or
drier  conditions. Accelerated breeding
programmes are needed to conserve a wider
pool of genetic resources of existing crops,
breeds, and their wild relatives. Relatively intact
ecosystems, such as forested catchments,
mangroves, wetlands, can buffer the impacts of
climate change. Under a changing climate,
these ecosystems are themselves at risk, and
management approaches will need to be more
proactive and adaptive. Connections between
natural areas, such as migration corridors, may
be needed to facilitate species movements to
keep up with the change in climate.

30. With reference to the above passage,
which of the following would assist us.in
coping with the climate change?

1. Conservation of* natural, water
sources

2. Conservation of wider gene pool

Existing crop
practices

management

4. Migratien corridors

Select the correet answer using the code
given below.

(@1, 2 and 3 only
(b) 1, 2 and 4 only
() 3 and 4 only

(d 1,2, 3 and 4

www.jkchrome.com

31. With reference to the above passage, the
following assumptions have been made :

1. Diversification of livelihoods acts
as a coping strategy for climate
change.

2. Adoption of monocropping practice
leads to the extinction of plant
varieties and their wild relatives.

Which of the above assumptions is/are

valid?
(a) 1 only
(b) 2 only

(c) Both 1 and:2

(d) Neither 1 nor 2

Passage—3

Today, the top environmental challenge is a
combination of people and their aspirations.
If the aspirations are more like the frugal ones
we had after the Second World War, a lot more
is possible than if we view the planet as a giant
shopping mall. We need to get beyond the
fascination with glitter and understand that the
planet works as a biological system.

32. Which of the following is the most
crucial and logical inference that can
be made from the above passage?

(a) The Earth can meet only the basic
needs of humans for food, clothing
and shelter.

(b) The only way to meet
environmental challenge is to limit
human population.

(c) Reducing our consumerism is Very
much in our own interest.

(d) Knowledge of biological systems
can only help us save this planet.

www.jkchrome.com

CYRF-S-TXLD/50A 17 [ P.T.O.

17 www.jkchrome.com www.jkchrome.com www.jkchrome.com



18 www.jkchrome.com

18 www.jkchrome.com

ufegs—a

FB A H R e w W om E Sw A
S 4 Bl ® A fega 9d ) 9' R fien R,
i Tgea hl Fe ARt F 1 TR ¥ o @ @
@ <1 wdt 31 9% O 98 F v F 6 v § eik
e i uftge ARt ened § e@ o B 9
WM A T W F el W o B ®), W A
vl € wHe o @ B of T = o @t
faofa 1 siadm ==l § @ @ @ Agw 21 R o
feen %1 % 35 T W < o swd wd B w oA o
AN B Wl & S 9 7 w1 e Fifdm dr w

TAd 2|

33. WU ¥ d@s F 98 4d & I

(@) IgE B FaA g F Sfua A frarn
EI:E

(b) =ga = e N fv 1w 2w E
T sft <1 g

(c) Sfhem % wform e § f5 spen @
it @i g i = o §

(d) i SR F FTENE Tgd F9 N4 S
&
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34. T T oF bl 4 =4 & Y ueg 9 3%

YA ® 3R I AW 4 ) gl wym o aifm
3ol @1 fafmg (F2E) F=3 | o 9o w4
3 9@ ¥ 198 A ¥, @ waw aur sifam
i & i T 2

(@) 1 (b) 2

(c) 3 d) 4

85. 3 Ho Hio YN I T 39 ¥ F Wt Herw!

T W 1 Yo Hlo YT a1l B TA1 § I
™ R BR T & R w ¥ Faw Q)
Helsh {77

(@) 12 (b) 8

(ch, 6 (@ 4

86. Ife 700 & 1000 aF @+fi weard ferelt =ird, 4

T freet wemd e 3 o dee @ o,
TETS o 3% Y qYT T1E F 375, THE F 35 @
ESI

(@) 61 (b) 64

fc) 85 (d) 91

37. e Wl < @, i@ < g am

g > 2, @ fefafea 3 @ $9-w1
Hea g 27

(a) TG > 2
(b) T < GEH
(c) Ufe =2
(d) ufaa > It
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Passage—4

Some people believe that leadership is a quality
which you have at birth or not at all. This
theory is false, for the art of leadership can be
acquired and can indeed be taught. This
discovery is made in time of war and the results
achieved can surprise even the instructors.
Faced with the alternatives of going left or right,
every soldier soon grasps that a prompt
decision either way is better than an endless
discussion. A firm choice of direction has an
even chance of being right while to do nothing

will be almost certainly wrong.

33. The author of the passage holds theé view
that

(a) leadership can bé taught through
war experience only

(b) leadership'ean be acquired as well

as taught

(c) “the results of training show that
moré people acquire leadership
than are expected

(d) despite rigorous instruction, very
few leaders are produced

CYRF-S-TXLD/S50A
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34. A number consists of three digits of
which the middle one is zero and their
sum is 4. If the number formed by
interchanging the first and last digits is
greater than the number itself by 198,
then the difference between the first and
last digits is

(@ 1 (b) 2

(c) 3 (@ 4

35. A solid cube of 3:¢m side, painted on all
its faces, is cut up into small cubes of
1 em side. Hownmany of the small cubes
will have.exactly two painted faces?

(@12 (b) 8

(c) 6 (d 4

36. While writing all the numbers from 700
to 1000, how many numbers occur in
which the digit at hundred’s place is
greater than the digit at ten’s place, and
the digit at ten’s place is greater than
the digit at unit’s place?

(@) 61 (b) 64

(c) 85 (d 91

37. If Pen < Pencil, Pencil <Book and
Book > Cap, then which one of the
following is always true?

(a) Pen > Cap
(b) Pen < Book
(c) Pencil = Cap

(d) Pencil > Cap

[ P10
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38. Th TEi fashdl A € x Wl gEaw B A i

‘o g 9=, T (o+2) W gEE A R
e ‘a+2’3ﬁ%a?ﬁw ¢ (x-2) ufd
e fl @ W I i ‘a-2 geh o)
bl gt fogh (€ ) Forerlt 27

(a) 3x+3a (b) 3ax+8

(c) OYax (d) x3a3

39. &l 3et 7 15 oa 8 2R 20 Fed 3 §)

TRF e W 1 q 2 AT 3 F wE o 2
AT &1 % 20% G G 1 a9 I35 40% T
e 3 foret 71 56 wER, @l 6 45%
W HE 2 991 30% W FEd 3 fadh §) us
qTcF Ag=A TF g Freprerar B) 3@ e AR
T § IR 3@ W 3 I g B Iayel IR
e Fefl @ 3 3| W 1 41 2 H gy g,
dl 9T g Srar ¥ 36 Siad s
w1 27

1 4
fa) 5 (b) ;

5 1@
(c) a (d) ‘]3

40. 2 Aft A 3 B frfhaddia arf @ e @ £

U B, A BeTRE au I ferfoat ow &
7% W 30°(, B/ TR ¥ T A, 39 By
T ggdl &Sl o SHe TRiEE fag ¥ s
@, 2, 7@ 98 B ¥ fiwar 81 A 3k BH
el H T I B, e A e 919 |
LR 4

(@ 6:5 (b) 4:3

fc) 6:1 (d 4:2
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41. et olten % o R ¥ o ww freneff @
40% % =Iee| AH e 5 3/ 30 %
fieid 8 qe 9% 30 i A IRl B S 2,

a uhien § sftemay i e 87
(@ 100 (b) 120
() 150 (d) 300

42. T Wed F U 19 wgw emg ®1 I A
11 ght hl Ffis 7E gOE 3 14 7 A
T2 Te gu B uw AR o e T @ el
A1 2/ G249 e A o =< vt we

=+ g 7= 77

(a) 3 (b) 5

(c) 6 (d 8
ﬁﬂﬁlﬁﬁ&(@)mﬁﬁaﬁqﬁéw

= @ T e # ufeu @it seE ge e 9
B: W 6 I difs
A, B, C 3R D 3® #| 3 5 fafiw sedi—p, O, R
N S (sIFards: sl w0 # 48) § e @ ¥ 3 wEe
Hicsl, ATEH Ficisl, HAG FHlos 3R AHEE Fos
(siferda: g6 %0 § 4E) ¥ e @ § & 9r fafm
T —IR, TSRIH, 380 3R e (tfarda: @
F4 1 98) § o 21 3r off foar mn @ fe—

(i) D 3EH g @

(ii) " Fiow Wl S H B, W ToRYE H

a2

(ili) A F7ed Fio H 9g @2

(ivy BY& Q# Ug @ &

(v) HEH i F § fom 3

43. AR B
(a) TSREYH H (b) TRE H
(c) IR QF (d) Fad
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38. A bookseller sold ‘@ number of
Geography textbooks at the rate of ¥x
per book, ‘@a+2 number of History
textbooks at the rate of ¥ (x + 2) per book
and ‘a-2° number of Mathematics
textbooks at the rate of ¥(x-2) per
book. What is his total sale in T?

3x + 3a 3ax+ 8

(a) (b)

(c) Yax (d x>a®

39. A bag contains 15 red balls and 20 black
balls. Each ball is numbered either 1 or
2 or 3. 20% of the red balls are
numbered 1 and 40% of them are
numbered 3. Similarly, among the black
balls, 45% are numbered 2 and 30% are
numbered 3. A boy picks a ball at
random. He wins if the ball is red and
numbered 3 or if it is black and
numbered 1 or 2. What are the chances
of his winning?

1 4

(a) — (b) ;
5 12

(c) 5 (d) E

40. Two persons, A dnd B are running on a
circular track. ‘At the start, B is ahead of
A and their pesitions make an angle of
30° at_.the centre of the circle. When A
reaches the point diametrically opposite
to his starting point, he meets B. What
is. the ratio of speeds of A and B, if
they are running with uniform speeds?

(@ 6:5 (b) 4:3

@@ 6:1 (d 4:2
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41. A student has to get 40% marks to pass
in an examination. Suppose he gets
30 marks and fails by 30 marks, then
what are the maximum marks in the

examination?
(@ 100 (b) 120
(c) 150 (d) 300

42. 19 boys turn out for plaving heckey. Of
these, 11 are wearing'hockey. shirts and
14 are wearing hockey pants. There are
no boys without shirts and/or pants.
What is the numbereof boys wearing full

uniform?
(@ 3 (b) 5
(eh, 6 (d) 8

Directions for the following 6 (six) items :

Read the information given below and answer
the six items that follow.

ApB, C and D are students. They are studying
in four different cities, viz., P, Q, R and S (not
necessarily in that order). They are studying in
Science college, Arts college, Commerce college
and Engineering college (not necessarily in that
order), which are situated in four different
States, viz., Gujarat, Rajasthan, Assam and
Kerala (not necessarily in that order). Further, it
is given that—

()
(i)

D is studying in Assam

Arts college is located in city S
which is in Rajasthan

(1)
(iv)
(v)

43. A is studying in

A is studying in Commerce college
B is studying in city Q

Science college is located in Kerala

(a) Rajasthan

(c)

(b) Gujarat

city Q (d) Kerala

[ P.T.O.
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44. HEH Hidw Ed 2 Fr=afafas 8 () uvaivh & e fdw
(@) TR QH 49 fon T e wfedEt @ ufen o uieRdl ¥ 4R
(b) W& SH A 9T TR F I A Ui & uF I
(c) IERH Fad 3 UR=3el WA NyiE 2R =g
(d) Y& PH ufede—1
! Seary ufEdd #1 fFane w3 f el seatE §
45. CRR@ 3dd: @R JHamigd el 81 YRGS, 39 # Ty
(a) T FHics A AFFCH aI WA Aeei s, gfdtse @
) & il Ud wHEifEa w0 & fou ke ke =
Y =gd 3ed ¢ vRa S RErasia tn % fo, S f
(c) TSR H STy uiadd 6 waiftes 7R Seraral § ¥ 0 8,
(d) W& QH forfa fompra it gl snavawmell w1 @ §Y, W@
e R oft iy R Afww dm P @ seEg
% Hifg@dmaTh®l s s SR whigd 9% 4
(@ DIE SHE g @ 2| A R TEREER 5 T R
(b) A €IZE Fio ¥ Y2 T B
(c) AFEHIE @ LI 49,/ 37w uft=dz & deof #, Fmfefas gdgromt
(d) SSifEd wew Tooa 3 R 2 T E
1. Sary gfEd, fasfa et & foe i
a7. hfmh FR9 ¥ wEe 4, Pehie § B il
FH-41 T HY TE 27 2. % | F fou, ey whed @
(@) C <& 9e @ &l jclﬁla U S B
(b) BdE 92 @ 2| 3. Todfm o0 iR wm @m0 arf
(c) @8 Tsa ¥ R fowmfia 39 o STgEeR sl =@
(d) DFE TR R iad
SEE H ¥ FE-H gEamon/qhurond 4y
48, fFr=fafad FeHl 7 4 F9-T1 w w8 37 2/87
(a) TS Fidw ey § f8q 2 (@) FaA 1 3R 2
(b) W& Q ¥1&M § f¥yg R (b) a4 3
(c) CFaH9g @ el (c) ad 2 3 3
(d) BSUdH 9E @ 2 d 1,2 3R3
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44. Science college is located in Directions for the following 8 (eight) items :

(a) city Q Read the following eight passages and answer
the items that follow. Your answers to these

@) etz s items should be based on the passages only.
(c) city R
Passage—1
(d) city P
All actions to address climate change ultimately
45. Cis studying in involve costs. Funding is vital in order for
countries like India to design _and implement
(a) Science college adaptation and mitigation plans and projects.
(b) Rajasthan : The problem is more severe for developing
_ countries like India, which would be one of the
(c) Gujarat hardest hit by climate.change, given its need to
(d) city O finance development. Most countries do indeed

treat climate change, as real threat and are
striving to address it in a more comprehensive
and integrated ¢{manner with the limited
resources at their disposal.

46. Which one of the following statements is
correct?

(a) D is not studying in city S.

(b) A is studying in Science college. 49. With reference to the above passage, the

(c) A is studying in Kerala following assumptions have been made :

1. Climate change is not a challenge

(d) Engineering college is located in _
for developed countries.

Gujarat.
2. Climate change is a complex policy
47. Which one of the following statements is issue and also a development issue
correct regarding Engineering college? for many countries.
(a) C is studying there. 3. Ways and means of finance must

be found to enable developing
countries to enhance their adaptive
c) It is located in Gujarat. capacity.

(b) B is studying there.

(d) D is studying there. Which of the above assumptions is/are

valid?
48. Which one of the following statements is
correct?

(@ 1 and 2 only
(@) Engineering college is located in

Assam. (b) 3 only

(b) City Q is situated in Assam.

c) 2 and 3 onl
(c) C is studying in Kerala. (e ¢

(d) B is studying in Gujarat. (d 1,2 and 3
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WRd W Nd HE G B W G@H YHE @R
AT % Y@ FRE $ w9 A g 2 oa fade
SageE #1 Rl aun o= gaifus Sifem =1
#d &l 9 9 T # 10 9@ 4 s R

g T A1 TG, S @ S A e v e
| 71 B, & w0 A ¥ aon 0 fom @ 3w F Amg An
SV h Fed 1-5 @ 3 gy B B gl s
G T F §, 99 R Tde do s, e
aul ferell, 1 @M A G IR SR
fewm -4 s% w1 2, Wgus 3W v # ugw @Ml
S I 399 % ¥ W I9E0 § AN el e s
30 a9 & 70 Fe W fBA 7|

50. 37w WR=ae ¥, fTrefafaa & @ #R-w
wattas fortas st arfée fewd (3%%)
Frepren i geman &7
(@ THU S, @R @all % 9fd =@edl

SPREFAT % FRV TEUH o9 U F

39N ) A R R

WA A 9 F @ % 91 YgHvl Sl due

F GUIMH @ FH F WS §9W 5

I FAE wEEd s oS

ekl 2|

WRA I WThfas NE % I ser

aifen. qen sAferer desiell 3egred w

Tifeu|

e =A@ e I T as 39

TES SRRSTAEE Ueg w1 w9 T S

Hehar

(b)

(c)

(d)

ufees—3

AFTHE JH o 94 Ghe & wiioed 9l 92 st F @iy
TH A B I HH & R, % g0 g8 I9 S99 #
= %, T weth e fe, S B et 2,
Tg-1fed &, W B, F1 vfas Freww (Resm) & 2,
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S 3R ol & €1 8 wenar) fogm F = #E o aifig
R B WA @, T8 A9 fagi wehfa 8 gfeerr R

51. fFr=fafad & § f9-a1 w @ =t = w=a
HEwqol fAfEaref 27
(@) G fag fagm =1 @ B
(b) ToIm & & gat fag %1 Gmiy + gaa
B Wl Tv srhen w1 gmwe o 7
(c) T = fomm geh T3 wya 498 2

(@) ge fam = W fcpa Gva @ 2,
IERIERE I gl

uf=ge—4

R 3 Sarm ) Te ot @t ¥ fge wver
He i §F I T wg aF gaw 81 Al
SR, N % i 78 (A W) F AW g
HZEhieH BT & HIOT WIY U GieE B AR R of
% faufla smdfes +1 werfem 4 gifm @ ¥ fao
B FIE FaE T8 R, FEwe 3w o w9 fam
aAftes @ s doedl & fou eenfe &) Ru-ge
7eq Y GEIE WAE1 4 AThfew a2 91l <3 &) fUgen
AR & 93 WUe! it FHI-79E * g seaifea o 2

52. F=fefaa 4 @ #0-91 % =9 9fi=82 # g=w
wequl fAfgare &7
(@) ¥RA 3ATHfeF oW § USEEEY €@ W
ekl @ 3R IHF THEH TF Wh g%
9549 & "l B
Ak B dien w1 e y-uerifa
T qigd4l &1 FHROT S B
AThieh &7 wfos § fag & dmgEi H
=41 =1 I FHE I GerRmem |
ATehicsh & § erhiow 4 s damem
.

(b)

(c)

(d)
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Passage—2

Cooking with biomass and coal in India is now
recognized to cause major health problems,
with women and children in poor populations
facing the greatest risk. There are more than
10 lakh premature deaths each year from
household air pollution due to polluting cooking

lakh due their

ACLIvis (B8 Lo 8 e

another 1:5

contribution to general outdoor air pollution in
the country. Although the fraction of the Indian
population using clean cooking fuels, such as
LPG, natural gas and electricity, is slowly
rising, the number using polluting solid fuels as
their primary cooking fuel has remained static
for nearly 30 years at about 70 crore.

¥ -, e T
fuels with to

50. Which of the following is the most
crucial and logical inference that can
be made from the above passage?

(a) Rural people are giving up the use
of polluting solid fuels due to their

increasing awareness of health
hazards.
(b) Subsidizing the use of “elean

cooking fuels will solve the problem
of India’s indoor air pollution.

India should increase its import of
natural gas., and produce more
electricity.

(c)

(d) Access to, ceoking gas can reduce
premature deaths in poor
housecholds.

Passage—3

Scientific knowledge has its dangers, but so has
every great thing. Over and beyond the dangers
with which it threatens the present, it opens up
as nothing else can, the vision of a possible
happy world; a world without poverty, without
war, with little illness. Science, whatever

CYRF-S-TXLD/50A
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unpleasant consequences it may have by the
way, is in its very nature a liberator.

51. Which one of the following is the most
important implication of the passage?

(a) A happy world is a dream of
science.

(b) Science only can build a happy
world, but it is also the only major
threat.

(c) A happy werld s not possible
without science,

(d) A happy world is not at all possible

with or without science.

Passage—4

The Arctic’s'vast reserves of fossil fuel, fish and
minerals are now accessible for a longer period
in(a year. But unlike Antarctica, which is
protected from exploitation by the Antarctic
Treaty framed during the Cold War and is not
subject to territorial claims by any country,
there is no legal regime protecting the Arctic
from industrialization, especially at a time when
the world craves for more and more resources.
The distinct possibility of ice-free summer has
prompted countries with Arctic coastline to
scramble for great chunks of the melting ocean.

52. Which one of the following is the most
important implication of the passage?

(@) India can have territorial claims in
the Arctic territory and free access
to its resources.

(b)

Melting of summer ice in the Arctic
leads to changes in the geopolitics.

(c) The Arctic region will solve the
world’s future problem of resource

crunch.

The Arctic region has
resources than Antarctica.

(d)

more

[ P.T.O.
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TfRedg—s5
gseqo dlo Hlo FH HIW X F HRY YRA I Al
U 541 3371 2 R W 9re o 9% weedl 3 s
e & @ orgewely e %1 wuen s @ 5 R
AT % IR 6 F FIAR FN IqE F g =g
wdd TeY 3ITee I W sl ol s g i
*® A @ T ) Eaew el ¥ s el
weEal fogmefe 39 % fow S s o §
10 wfier & A 6 8w | wRa & fo o o
% fou 2w Wi g o wrm W s
wWIFelfesn sevas & a8 Wva & 5 gw a9l A
Screhl T A i weEa N I H
Teq % 10 vfowa & 31 ag s

53. 39w T=we 1 fHuriaes G2ur ey 27

(@ ¥RG % M flo Ho TwHo F wHftE
T TR

(b) ¥RA F T=Yo o 3Hlo F WeW TE
BT TR

() ¥Ra & U, @m@ wen =R F 9y
ZHU9 I Hl B

(d) RE 94 T R ET e ¥ R

ufe3T—6

urd A e yomelt 3w = fan wored F A w
o & S e A 197 wared # TR 78 ok A
fog & %@ ) @ e W ww 2 B ow= W
"7 AT AR IeqeE e w9 F Srggiad
S| 7% wHeed i g % foe suge o R
i d SRl A @R 9
wi off | TR e Hew W@ wrant f e § e
afeai Bl €, afdal € & ofn e F v
e w2, @ Mensf§ S srquem ¥ fow @ = @
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HER 2|

54. I0Yw ftese & weof #, F=fifaa qeumom
CEIER A
1. wra e gfeql fiegn womeh % wro
ae: faermerefier 2w e gam &y
2. w™ ¥ fuaff ¥ fow qwogn ¥
HIRTE-TE WTH 1 SHEAF B
3. W TEm # WidE Miemwm w3 %
o o fomfim 3wt 3§ 1 § it aqf
# e wnfeat = ognst w0 g
widfers & e = §)

IEE A FE-d gEaron/gEemromt Ay
B/

(a) 5@ 1 3 3

(b}, A 2

fc) Faw 2 3 3

(d) 1,233

qfeee—7

STER-Fe (S3fén) 1 yed Wi W g 3 W
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Passage—5

Being a member of the WTO, India is bound by
the agreements that have been signed and
ratified by its members, including itself.
According to Article 6 of the Agriculture
Agreement, providing minimum support prices
for agricultural products is considered
distorting and is subject to limits. The subsidy
arising from ‘minimal supports’ cannot exceed
10 per cent of the value of agricultural
production for developing countries. PDS in
India entails minimum support prices and
public stockholding of food grains. It is possible
that, in some years, the subsidy to producers
will exceed 10 per cent of the value of
agricultural production.

53. What is the crucial message conveyed
by the above passage?

(a) India should revise its PDS.

(b)

India should not be a member
of WTO.

(c)

For India, food security collides
with trade.

(d)

India provides food security to its
poor.

Passage—6

India’s educational system is modelled on the
mass education system that developed in the
19th century in (Europe and later spread
around the world. The goal of the system is
to condition“children as ‘good’ citizens and
productive werkers. This suited the industrial
age that needed the constant supply of a
compliant. workforce with a narrow set of
capabilities. Our educational institutes
resemble factories with bells, uniforms and
batch-processing of learners, designed to get
learners to conform. But, from an economic
point of view, the environment today is very

CYRF-S-TXLD/S0A
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different. It is a complex, volatile and globally
interconnected world.

54. With reference to the above passage, the
following assumptions have been made :

1. India continues to be a developing
country essentially due to its faulty
education system.

2. Today’s learners meed to acquire
new-age skill-sets.

3. A good number of Indians go to
some developed countries for
education because the educational
systems. there are a perfect
reflection of the societies in which
they function.

Which of the above assumptions is/are
valid?

(a) 1 and 3 only
(b) 2 only
{¢) 2 and 3 only

(d 1,2 and 3
Passage—7

The practice of dieting has become an epidemic;
everyone is looking out for a way to attain that
perfect body. We are all different with respect
to our ethnicity, genetics, family history,
gender, age, physical and mental and spiritual
health status, lifestyles and preferences.
Thereby we also differ in what foods we tolerate
or are sensitive to. So we really cannot reduce
so many complexities into one diet or diet book.
This explains the failure of diets across the
world in curbing obesity. Unless the reasons for
weight gain are well understood and addressed
and unless habits are changed permanently, no
diet is likely to succeed.

[ P.T.O.
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ss.aqgfﬁ.qﬂﬁaﬁﬁq-_mwﬁi}mmﬁwaﬁ? 57. F1§ gFMER fhell asg A €40 T 39T X%
ThHETT fAend (F%ta) Feren s g 27 T KA | T, S 98 39 9% € 20
(@) WA faasw & uh qemi a1 w2y 3 3 8, @8 A A b il

» ® | 9% % g7 A e 27
(b) ga%]aﬁn%mﬂtmmﬁgqﬂ (@ €10 (b) €20

¢) ¥ 30
(c) WY FEEE: UF AT U ) " T

(@) "ew % fau #E T R dua 58. Tl gu ft oftfy W wwm gff w24 fgd ¥

HHIIH &l # | A F w9 F A famgel ¥ wr=d ?
Hftrrem fora wwang ?
. S Gohd B
(@ 4 (b) 6

THYE FY A A 98 Nfem ) w1 wwam o
diesh g & @@ I A AR w1 wgE W
FHAI B, Th ANE WA T @ T gweh wedt g o
IUHTFA GAET THEEA 2050 GF 70% 3R sl 59. Fefefad sigrn w famm Hifv

@ra 1 99 HUlt| TRafda B Siaarg § 4 Sifaw 4/12/95, 1/1/96, 29/1/96, 26/2/96, ...
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55. What is the most logical and rational
inference that can be made from the
above passage?

(a) Obesity has become an epidemic all
over the world.

(b)) A lot of people are obsessed with
attaining a perfect body.

(c) Obesity is essentially an incurable
disease.

(d) There is no perfect diet or one
solution for obesity.

Passage—S8

Monoculture carries great risks. A single
disease or pest can wipe out swathes of the
world’s food production, an alarming prospect
given that its growing and wealthier population
will eat 70% more by 2050. The risks are
magnified by the changing climate. As the
planet warms and monsoon rains intensify,
farmlands in Asia will flood. North America
will suffer more intense droughts, and/crop
diseases will spread to new latitudes.

56. Which of the following is ‘the most
logical, rational and crucial
message given by the passage?

a) Preserving crop genetic diversity is
an insurance against the effects of
climate change.

(b) Despite great risks, monoculture is

www.jkchrome.com
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57. A shopkeeper sells an article at ¥ 40 and
gets X% profit. However, when he sells it
at ¥20, he faces same percentage of
loss. What is the original cost of the

article?
(@ ¥10 (b)) €20
(c) ¥30 (d) T40

58. There are 24 equally spaced points lying
on the circumferenice of a circle. What is
the maximum number of equilateral
triangles that can.be drawn by taking
sets of three points as the vertices?

(@) 4 (b) 6

(e) 8 (d 12

59, Consider the sequence given below :
4/12/95, 1/1/96, 29/1/96, 26/2/96, ....

What is the next term of the series?

(@) 24/3/96 (b) 25/3/96

(c) 26/3/96 (d 27/3/96

60. Twelve equal squares are placed to fitin a
rectangle of diagonal 5 cm. There are
three rows containing four squares
each. No gaps are left between adjacent
squares. What is the area of each

the ‘emly way to ensure food square?
ity in t 1d.

seeurity in the wor (@ 5 i
fe)» More and more genetically modified *

crops only can save the world from 7

impending shortages of food. (b) g e
(d) Asia and North America will be ( p—

worst sufferers from climate change & 9

and the consequent shortage of (d) 25 sq cm

food. 12
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m Consider the following graph : Directions for the following 2 (two) items :
o Consider the following graph in which the
tL a birthrate and death rate of a country are given,
_— Expected / and answer the two items that follow.
= v progress A g
[=] - T —
3 _,—"-- .E s -\
‘S 50% - I g F I
® 4 g
¥ ”C" i g FTN~ oy
25% 4 4 ] progress (R <l Birthrate
W / &20: \\
0% L& o F M
st Aprii May June July Aug lstSept T E L
. _ : 5 . M Death rate
Which one of the following statements 1s Bink A\
not correct with reference to the graph s F A<
given above? 'g - e i
(a) On 1st June, the actual progress of < F
workwaslessthanexpectcd‘ é OIIII L 111 L Ly Ll 11 LA L1 LL 1Ll Il L1
1970 1980 1990 2000 2010
(b) The actual rate of progress of work —
was the greatest during the month
of August. Looking at the graph, it can be inferred
(c) The work was actually completed that from 1990 to 2010
before the expected time. (a) population growth rate has
. 3 : increased
(d) During the period from 1st April to (b) population growth rate has
1st September, at no time was'the Aecisiand
actual progress more than  the (c) growth rate of population has
expected progress. remained stable
For a sports meet, a widners’ stand (d) }zopt:llation growth rate shows no
s e s ren
flc:m?rlllsmg thfree “.:ooden plgss 1s i With reference to the above graph,
e consider the following statements
considering 1970 as base year :
1. Population has stabilized after
35 years.
2. Population growth rate has
stabilized after 35 years.
o 8
There are six different colours available - ?;ea?rsia;% ?::rsfa.llen Hy 10% 1n
ta.cheose from and each of the three 4. ‘Biehrate has .stabilizc d afier
wooden blocks is to be painted such 35 years.
tha§) no two of thcm’ has ‘the 'same Which of the above are the most logical
colour. In how many different ways can and vecbional ildtesnents that Gin be
the winners’ stand be painted? made from the above Eraph?
(@) 120 (b) 81 (a 1and 2 only (b) 1,2 and 3
(c) 66 (d) 36 (¢) 3 and 4 (d) 2 and 4
CYRF-S-TXLD/S0A 31 | PiR.O.
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3071
20€

10+

2013 14 15 16 17 Y
i

= B

o=l & o8 S| w1 5 & R

(@)

(b)

(c)

()

E % & 3Ie-376 &

E % 9fter (e7¥iq ifisan wd =mEaw ¥
o W), -3 B

@l (UT%) <l e 99 B

E ¥ 3fg & &t srem-3rem §
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m Average hourly earnings per year (E) of
the workers in a firm are represented in
figures A and B as follows :

Hourly
earmings
>3
Years
Fig. A
Ea
40+ /D
30-%/
§
Hourly &0
earnings i
10+
2013 14 15 16 ¥

Years

Fig. B

17

From the figures, it is observed that the

(a) values of E are different

(b). ranges (i.e., the difference between
the maximum and the minimum) of

E are different

(c) slopes of the graphs are same

(d) rates of increase of E are different

CYRF-S-TXLD/S0A
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m Consider the figures given below :

!
W ¥

N Nt

To fit the question mark, the correct
answer is

Sl ' I8

(b)

.

(c)

=

@

[ P.T.O.
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fFrifera sl A 3fR B fomm Hiftr

3T HI AT
(T o)

1000 2000 3000
fafafifa sreqi #1 @war

3 A

500 \\

S
<)
=]

yid 3152 fasa
e (¥ )
BN
o
Q

350

300

1000 2000 3000
9 77 372e #1 g
B

w9 3 A 3R B § Tl 3cag <hifmio
e 3R vAfa el el R wm-2-3m

Torem 3regl =1 Tomiv forar s arfee anf a1y
IR?

(@) 2000 (B) 2500

(cj 3000 (dj 3500

68. & ffwe H 18 9% 91 30 =1 FI &f 91 Hi
gl ehfee § 12 T F iy fea a9

3 HFd B7
(@ 6 (b) 10
(c) 12 (d) 15
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69. Tl =afs 3 £22,800 Hiva =1 TEH
12:5% “RIfe =9 (A1fds) ® @fierl vee
oY % 3 W I €8,650 T Tw a4 ¥ 3iq

W §9,125 gHY| F QU gFH F fou 9
At a8 & 3a § fr w9 #1 gTaE s

wm?
(@ ¥9,990 (b) & 10,000
(c) 10,590 (d) % 11,250

B =i Rt e -

A NCAV:-NNAVA
N QAVAVERVAY

AV ARNAVARAVA
VAVRVAVERVAY.

(IV) V) (VI)

SR o) @ (v) 7% § 33 9w FaiE
fematt # ot fufoal s g feam
Sl AR FT AT T g AR fw e et

H 9§ SH-"1 W07 (VI & e
(@) (b) “
\\Y/ &\
o OO T
o

o

www.jkchrome.com



35 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Consider the following figures Aand B: 69. A person bought a refrigerator worth
8 22,800 with 12-5% interest

a compounded yearly. At the end of first
-% - year he paid ¥8,650 and at the end of
3 % 6 second year ¥9,125. How much will he
E = have to pay at the end of third year to
S E S clear the debt?
g~ a-
s (@ 9,990 (b) €10,000

1000 2000 3000
No. of pieces manufactured
Fig. A

(c) ¥10,590 fd). €11,250

Consider the foliowing figures :
i 096 AV -NNAYA
= Y ARVAVERVAY,

400
(0 (1 ()

Selling price per
piece (¥ )

350

AV RNANA
1000 2000 3000 " \o ii /
No. of pieces sold
Fig. B (V) (V) (V1)
The manufacturing cost .and projected

B

sales for a product are shown in the
above figures A and B, réspectively.
What is the minimum number of pieces
that should be manufactured to avoid a

loss?
(@) 2000 (b) 2500
(c) 3000 (d) 3500

68. A'lift has the capacity of 18 adults or
30 children. How many children can
board the lift with 12 adults?

(@) 6 (b) 10
c) 12 (d 15
CYRF-S-TXLD/50A 35
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In the figures (I) to (VI) above, some
parts are shown to change their
positions  in regular  directions.
Following the same sequence, which of
the figures given below will appear at
(VII) stage?

o G0

[ P.T.O.
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28 F=ifra sreiEl w fem i) el § R
T 93 F IWehI 1 HaTY F 9 W A 3R B

WA
1-2
ol
E 06
02 _/ ‘‘‘‘‘ s
& T I | a ==
1950 1970 1990 2010 2030 2050
e
<15 15-64 “64+
a B
12

1950 1970 1990 2010 2030 2050

............. —— —

<15 15-64 64+

IAw oMeiEl I EEd H, fefafan § @
FA-U TS @ifes R ahana s

(3%m) Fermd sn w5 27
1. sl @R =xe § 39 B % fskar s
o ) 371 R

2. I THE SUH H IFq H, W A H
Tl s, 3@ B % Pofan e i
qo 4 wgd %4 ) S|
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3. 0TS 3 FWe H, 3W A R gen & 29 B
H el SHEEH F T s sHee
q¢ S|

= oy ¢ = w1 e = wd I ghn

(@) Faa 1 AR 2

(b) =Had 2 IR 3

c) Fad 1 3R 3

(d 1,23W3

72, @&Hl, \SEH VR, IEH TR oaA IJ@w g
Sefie faadl &1 ©F ge (Sue9) B WEw
ﬁm% -

() <& %1 9 3wh T A R F o
THE ¢

(i) IFF gA, TR TOE Raard % wRe
42 % R fasola: @ R

(i) g9 31 faedl A §=Q @e
RaarE! 92 & UF € WE B

a8 =] e #19 27
(@) ZTF IS
(b) IEh T
(c) 38H1TA

(d) e

www.jkchrome.com



37 www.jkchrome.com

Consider the following graphs. The

curves in the graphs indicate different
age groups in the populations of two
countries A and B over a period of few
decades :

o Country A
g 1-2
E 10— ..................................
E s T
=
= 06 ;
g
2 04 e
> ___.d""-"
-é‘ 0'2 —‘/ = N
£ 0 | I T | i ]
1950 1970 1990 2010 2030 2050
Years
<15 15-64 T64+
= Country B
@ 12
=}
é 1.0_.
£ 084
g
< 06
£ 04
S ——
‘g‘ 0,2 L o= g,
o 0 == !
s L I | 1 1
1950 1970 1990 2010 2030 2050
Years
<15 15-64 T6a+

With reference to..the above graphs,

which of the following are the most

logical and rational inferences that
can be.made?

1. CQver the last two and a half
decades, the dependency ratio for
country B has decreased.

2. By the end of next two and a half
decades, the dependency ratio of
country A will be much less than
that of country B.

CYRF-S-TXLD/50A
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3. In the next two decades, the work-
force relative to its total population
will increase in country B as
compared to country A.

Select the correct answer using the code
given below.

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

72. Lakshmi, her brother, her daughter and

her son are badminton players. A game
of doubles is about to begin :

(i) Lakshmi’s brother is directly across
the net from her daughter.

(ii) Her son is diagonally across the net
from the worst player’s sibling.

(iii) The best player and the worst
player are on the same side of the
net.

Who is the best player?

(a) Her brother

(b) Her daughter

(c) Her son

(d) Lakshmi

[ P.T.O.
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BB = fum omera # ww o R afy d dh Frerieiem 2 (2) it 3 forg i

m;ﬁgﬁm?ﬁmwm“ 13 9 8 e % e e & el 2w P
‘ Tl A Mo Fo fo ghg-T 3R FEER woar iR
@ e | 3@ w1 stemE i ok e am
vy Hifarrd &, %4 7-50 Tl 31 T % I R

7-50 g yfad =gfs | sfte 2o o gman
7-00 T ($) | Fe- (%) G
c00| 520 T 2 419 531 35-88
TH 3 254 10:83 5007
550 55./ T 4 545 0-78 594
T 6 1077 11:69 115
450 T 7 900 888 104-86
400 T 8 385 502 6
] T T4 9 720 7-76 82:25
T 10 893 9-55 967
3:00 T 11 363 47 57-7
92 W27 Ta1e @2 Ruis w25 w17 w3 16 =4 12 966 7.85 63-8
2010 2 T4 13 495 9-37 52:3
=T 14 864 546 979
9 15 497 748 62'3
Y16 TiT 7-03 93-8
=9 17 335 58 499
frfefaa § ¥ #R-0 & 20 &% A T4 18 599 7-49 47-84

FRATE 6 TG THT FRO 7
EZY sw & € afoen & wedl #, fafafea # @

FH-H/A wailaE ariew o awana

P TR S CHEERE S, ® frery (Fom) Freemen sn w1 /@ s

g&hd &7
1. I=® Wd ARF @ gmEd: =W
TEER G941 ¥ Feg Bl ¢ |
(b) mﬂﬁm 2. WGﬁOEﬁO‘ﬂDﬁ-ﬂ'{WMﬁ
=afh 39 =1 ghfdm w2

3. mﬁﬁoéﬁotﬁoqﬁi-ﬁmm
oAl H FEEE €9 H ghEm @

(c) wdsiH 3R Fsft < w6t # afg @ Tl |
H fou v e 1 @ R wd IW g
(@ &a 1 (b)) 23R 3
(d) Fhifa-fereft w=g (¢ 133 (d) ¥4 3
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The graph given below indicates the

Key policy rates in %

changes in key policy rates made by the
Central Bank several times in a year :

7-50
(+23)
7-50
700 650
Repo Rate (+25)
6-50 625
800
e / 600 600
ot 550 Reverse Repo Rate
5:00
4-50
4-00
400
3-50
3:00
Jul2 Jul27 Sep16 Nov2 Dec16 Jan25 Mar17 May3 Jun16
2011

2010

Which one of the following can be the
most likely reason for the Central
Bank for such an action?

(@)

Encouraging foreign ‘investment

(b)

Increasing the liquidity

and

(c) “Encouraging both public

private savings

(d) Anti-inflationary stance

CYRF-S-TXLD/50A
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Directions for the following 2 (two) items :

The following table gives the GDP growth rate
and Tele-density data of different States of a
country in a particular year. Study the table
and answer the two items that follow.

States | Per capita | GDP growth| Tele-density
income ($)| rate (%)

State 1 704 9-52 7027
State 2 419 531 3588
State 3 254 10-83 50-07
State 4 545 9:78 594
State 5 891 10-8 7612
State 6 1077 11-69 77'5
State 7 900 8:88 104-86
State 8 395 /592 6
State 9 720 776 82-25
State 10 893 9'55 967
State 11 363 4-7 577
State 12 966 7-85 63-8
State 13 495 9-37 52-3
State 14 864 546 979
State 15 497 7-48 62-3
State 16 07 7-03 93-8
State 17 335 58 49-9
State 18 599 7-49 47-84

With reference to the above table, which

of the following is/are the most logical

and rational

inference/inferences

that can be made?

j &

Higher per capita income is
generally associated with higher
Tele-density.

Higher GDP growth rate always
ensures higher per capita income.

Higher GDP growth rate does not
necessarily ensure higher Tele-
density.

Select the correct answer using the code
given below.

(a)
(c)

www.jkchrome.com

1 only (b) 2 and 3

1 and 3 (d) 3 only

[ P.T.O.
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ER v« & @ afm % wof , fefafan

YUY 348 T ¢

1. 3, 9gd 9 B 3 fed 1 9«
et =1 1 HoEa EER agtEE §
Fq faen 1 s @ foem e =
S Hl |

2. HASd, dgd 39 EIR guqer fRd
T wEeE ud e fasE W

WreEifed ®H * fIy wF wed e
I 21

IFw A A FA- gdunon/gdunend Ay
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(@) Fad 1

(b) FEA 2

c) 1 3R 23

(d Adm13mId2

K& - e e s @ el A osmfy § wR

45

TR o G1ei 1 Yelid =t & ¢

404

30+
251
20+
151

" T T gfavra

54

1990-91

357

104+

...............
.....

—_——
o ———— -
-

2009-10
(Prov)
2010-11
(BE)

9 fau M arerE % wed A, Frafafad § @
FH-H/H wAAw  afhe HR adhaTd
s (F%¢m) femn o1 wa &/Fem
Hehd &7
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1. & S ety § gam R useE F ufeerd
% w9 H g w1 W e | afg g @
Tafh AT U § sk § A 2

2. 3IUE Yok ¥ W e hi yghd wahia
FTdll ® o 41 g% wwamaty 7 fmin a9 =
orspra oo @ R

= fow U g F W@ W gl S g

(a) Has 1

(b) I 2

(c) 1 3R 2 3H

(d)F 1 IR AE 2

77. G x-y=8 %, 9 F=fafaa & § #=-a1/9

g gA1/EM B =Ry

1. x, y ¥ o oft 99 F QX o1 y 260
YA B T =TT |

2. x, y& T o 99 % forw R x gAres
2, A1 y ST BT € =R

3. x y%%&ﬁ‘ﬂ%%ﬁ‘[ﬂ;'ﬂﬁx
FOITCHF B, 1 y ST B E =Ry |

= fw U g2 = @M W wE I g
(@) Had 1

(b) Had 2

(c) 1 3R 22

(d 1, 2 3 3 H 4K A8l
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With reference to the above table, the
following assumptions have been made :

Which of the

Nowadays, prosperity of an already
high performing State cannot be
sustained without making further
large investments in its telecom
infrastructure.

Nowadays, a very high Tele-density
is the most essential condition for
promoting the business and
economic growth in a State.

above assumptions

is/are valid?

(@)
(b)
(c)
(d)

The

1 only
2 only
Both 1 and 2

Neither 1 nor 2

following graph indicates the

composition of our tax revenue forsa
period of two decades :

L
= 90
5 40
235
530,
v, 251
20
154
210
E o
8 o e
é 07 T T T T L | = 1
1 O o8] o = e
2 &8 3®|E ¢ ¢ 5 B R
g 2 A XN £ 5 g gsg
o o ) (] =) o o o (=] (=]
= Lo ('} o™ ™ ™ N ™~ ™ ™
Years
Excisen. Customs Corporate Personal — Service
tax income tax tax
With reference to the above graph,
which of the following is/are the most
logical and rational inference/
inferences that can be made?
CYRF-S-TXLD/50A 41
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1. During the given period, the
revenue from Direct Taxes as
percentage of gross tax revenue has
increased while that of Indirect
Taxes decreased.

2. The trend in the revenue from
Excise Duty demonstrates that the
growth of manufacturing sector has
been negative during the given
period.

Select the correctanswerusing the code
given below.

(@) 1 only
(b) ‘2.0nly
¢/ Both 1 and 2

(d) Neither 1 nor 2

77. If x-y= 8, then which of the following

must be true?

1. Both x and y must be positive for
any value of x and y.

2. If x is positive, y must be negative
for any value of x and y.

3. If x is negative, y must be positive
for any value of x and y.

Select the correct answer using the code
given below.

{a) 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2 nor 3

[ P.T.O.
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(b)

(c)

(d)
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IE A W wH-H JEYUROT/qEYRond 3y
8/37
(@) FaA 1
(b) FaA 2
(¢) 1 32 3E
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(d)
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

The quest for cheap and plentiful meat has
resulted in factory farms where more and more
animals are squeezed into smaller lots in cruel
and shocking conditions. Such practices have
resulted in many of the world’s health
pandemics such as the avian flu. Worldwide,
livestock are increasingly raised in cruel,
cramped conditions, where animals spend their
short lives under artificial light, pumped full of
antibiotics and growth hormones, until the day
they are slaughtered. Meat production is
water-intensive. 15000 litres of water is needed
for every kilogram of meat compared with
3400 litres for rice, 3300 litres for eggs and
255 litres for a kilogram of potatoes.

78. What is the most rational and crucial
message given by the passage?

(a) Mass production of meat through
industrial farming is cheap and is
suitable for providing protein
nutrition to poor countries.

(b) Meat-producing industry  violates
the laws againsticruelty to animals.
(c) Mass production of meat through
industrial farming is. undesirable

and should be stopped
immediately.

(d) Environmental cost of meat
production is unsustainable when
it is, produced through industrial
farming.

Passage—2

A male tiger was removed from Pench Tiger
Reserve and was relocated in Panna National
Park. Later, this tiger trekked toward his home
250 miles away. The trek of this solitary tiger
highlights a crisis. Many wildlife reserves exist

CYRF-S-TXLD/50A
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as islands of fragile habitat in a vast sea of
humanity, yet tigers can range over a hundred
miles, seeking prey, mates and territory. Nearly
a third of India’s tigers live outside tiger
reserves, a situation that is dangerous for both
human and animal. Prey and tigers can only
disperse if there are recognized corridors of land
between protected areas to allow unmolested
passage.

79. Which of the following is .the most
rational and crucial message given
by the passage?

(a) The conflict between man and
wildlife’ cannet be resolved, no
matter what efforts we make.

(b) Safe wildlife corridors between
protected areas is an essential
aspect of conservation efforts.

(c) tIndia needs to declare more
protected areas and set up more
tiger reserves.

(d) India’s National Parks and Tiger
Reserves need to be professionally
managed.

80. With reference to the above passage, the
following assumptions have been made :
1. The strategy of conservation of

wildlife by relocating them from one
protected area to another is not
often successful.

2. India does not have suitable
legislation to save the tigers, and its
conservation efforts have failed
which forced the tigers to live
outside protected areas.

Which of the above assumptions is/are

valid?
(@) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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